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일 때, f (10) × f (11) × f (12) × · · · × f (99) 의 값은?

①
1

9
②

9

10
③

10

11
④

10

99
⑤

20

99

f (a) =
a2 − 1

a2
=

a − 1
a
· a + 1

a
이므로

f (10) × f (11) × f (12) × · · · × f (99)

=
9

10
· 11
10
× 10

11
· 12
11
× 11

12
· 13
12
× · · · × 98

99
· 100
99

=
9

10
× 100

99

=
10

11

해설



2. a + b = 3, ab = 1 일 때, a2 (a − b) + b2 (b − a) 의 값은?

① 13 ② 15 ③ 17 ④ 18 ⑤ 20

(a − b)2 = (a + b)2 − 4ab = 32 − 4 × 1 = 5

∴ (준식) = a2 (a − b) − b2 (a − b)
= (a − b)

(
a2 − b2

)
= (a − b)2 (a + b)
= 5 × 3 = 15

해설


